— N

o



= oL,

ohe H40] Uil

2.

15+




—ax[-[]

4+




o] A AEUN

IR

1
—

[e]
=

]
A

4=
g—a‘

A7 el



AFe 2kg & 9 9] BA] o
2 kg 4 How HYrp

EZro] Yol o g Yt



BEo



13

2% ‘W%LLQ% L sl goz e W Yy, Holx
= %ﬁi‘HC’Fo}—] 25A 2

YL #









8+ 3 =[Ix[1=]




11. 3=+ 9}74]”7347} T2 AS BT AEAL.

2 2 5

3% = -+ -

@3)(5 @5 3 ®3><2
@ ==+5 ® 3x5+2

2



12.

28 AMIAL .
9.8 ¢
101577
25 21 13 2l 27
©x @ 065 ©®= 0=




Ol

ol

o FLIE
X

<100[¥
@ ©

*x[O<|O

Ol<¥|D
© @



1] 252,

)

5%
<
N

A Ho

pj

__o_l

T

™H
=

s

B

zoh






16.

2
201 715 5ol 9k B9 PAE 2kg U ol §ol B2 2w

AH83EIL U 24kge] HlSi Tk 8l Bo] oAl 9 kgelx] Fot
AlQ.

a =5 kg



17.

[=p}

L5o]9] gotelo] o] 1
Hofof o] gotz]o

> R il

pl

2 o



18. 7F 4 o Al 47k T HE g o 3] ol b g
Hrd 2 gUk b b2 e e 2ntdu

=g
=%



5
FAE Y 22 7

S

Mo

1l 52 dnfelu 7t

s

H A5y v=2A AL

5 5
@ 4 ®36 @ 4 ©46

D1



20. 5190] 27 cm, OOl 47 em, WOl 97 em? Q) AreelEo]
Hek o] Abctele) ol 5142,

1 1 1
@1%cm @2%(:111 ®3§cm
@ 4= cm ® 5= cm

2 2



